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Which of the following is not a member of 1. Afetfam dfaafa uc 
the vitamin B complex? (A) Thiamine 
(C) Folic acid 

1. 

(B) Riboflavin 
() Ascorbic acid 

HER ? 

(A) erafa 
(C) 5t yRIS 

(B) TSaYfa 
(D) yvfas yf¥E 2. Which blood vessels have the smallest diameter? 2. 

(A) Capillaries
(C) Venules 

(A) aTTr 
(C) f9nfNepT 

(B) eH- 
(D) aifBmT 

(B) Arterioles
(D) Lymphatic

Which of the following is an air-borne 3. 
disease? 
(A) Measles (B) Typhoid 
(C) Pink eye (D) None of the above 

(A) EHRT (B) ETEHTSS 

(C) Tort 3Ta 
4. Which of the following hormones is a 

steroid? 

(A) Estrogen 
(C) Insulin 

(B) Glucagon 
(D) Oxytocin 

(A) VETG 
C) yT 

(B) q 
(D) 3tTRieRT 

An electron possesses a negative charge 
of: 

5. 5 
(A) 16 x10-1 
(C) 26 X 10 

(B) 1.60 x 10 

(D) 1.8 x 10i (A) 16x 10C 
(C) 26 x10C 

6. 

(B) 1.60x10C 
(D) 1.8 x 10° C 

How many electrons taken together make 

one coulomb? 
(A) 6.25 x 10 electrons 

(B) 3.25 x 10° electrons 

(C) 2.25 x 10 electrons 

(D) 4.25 x 10" electrons 

6 
(A) 6.25x 10 zH 
(B) 3.25x 10 az 
(C) 2.25 x 10 cT 
(D) 4.25 x 10 TeA 

7. 
(A) 1atce /1Tr`TAY 
(B) 1Ic /1C 

(C) 19cx 1yirTR 
(D) 1ace x 1l 

RTHTZf ifA7 RDX YT fI Y 

feYT TT? 

7. One ohm is equal to: 

(A) I volt/ lampere 
(B) 1 volt[ I coulomb 

(C) 1 volt x I ampere 

(D) I volt x 1 coulomb 

8. 
8. In which form the chemical compound 
8. 

RDX is used? 

(A) As an composition 

(B) As an reactor 

(C) As an explosivve 

(D) As an nuclear weapon 

(B) y NgTER Ty 

9. 
Bio-chemical compounds are used as... 

(A) Skin Treatments 

(B) Food preservatives

(C) Cooking Oils 

(D) All of the above 

9. 

(A) aT GyaR 

(B) ETE TRCT 

Which of the following
indicator used in 

10. determination of hardness?

(A) ae 
(C) fpeTa 3 

(B) pefda 
(D) THT 

(B) Phenolphthalein 

(A) EBT 

(C) Methyl orange
(D) Thymol 

blues 
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ectronic computer 11. YEc zaiAo e ENIAC fH 

? 

(A) qH T 
(B) TTHW, VH. TtraT. 

(C) yY YHE 
(D) H (A) 3ft (B) 

g 1s the largest unit 12. fa À 7- zaRT Ta FHT 
? 

B) KB 
D) TB 

(A) titT 
(C)yHs 

permanently stored 13. TTH ETAYY TeT R 7 À 

(B) d 
(D) ct 

m of hardware i 

(A) EISTR 
(C) 5a 

(B) er 
(D) HT B) Software 

D) Romware 
rocess of dividing a | 14. 

ectors. 
B) Formatting 
D) Allotting 

(A) To 
(C) RFT 

(B) 45feT 
(D) yaIe 

ent memory built into 15. 3Tyc R H AAa PI HR TI ET 
2 GIT 8? 

(B) Floppy 
(D) ROM 

(A) 
C)iTTg 

(B) T 
(D) RH 

puter screen is made 16. ************* 

. 

(B) Pixels 
(D) Palette 

(A) aTgE 
(C) faz 

(B) fHH 
(D) toe 

17. (DPI) SiEH Hf a r HTYI? 
(A) fae TT 

inch (DPI) measure? 

on a computer 

n the disk 

aphic file stored on 

sed type of database 18. 3ETÀH HU ArEH I HN Iy5 

is 
(A) TTa 3IETàH 

B) tqa grerdm se 
ase (C) fRANTT TErA 

abase (D) YETEHT GTETAH 

oresent on a data flow| 19. 

(A) 3IET FI¥I 3tr sReNT 

(B) IEI GT 
(C) TTAT ufrI 

(D) 3IET 4GTY 

Destination 
Process 



application 20. y Tdv 

client computer. 
3) Front end 
D) Java 

(B) b VG 

(D) GIT 

of following crop 
B) Wheat 
D) Maize 

(A) à5 
(C) HTTT 

21. -37 AT IT y7 f 

(A) TD 
(C) e aRT 

(B) TE 
(D) HrT 

commonly known as 22. 3NE (T HER) T STHTR T 

°** 

B) Red gram 
D) Green gram 

(A) 
(C) TTC TT 

(B) cilc T 

(D) qT 

10n in mungbean 23. T z au H37py HHTR 

(B) EIFUTAra 
B) Hypogeal 
(D) Epi-hypogeal 

(A) yfutta 

C) ETE-yfetita (D) ytu-ETEUYA 

24 ..per cent 

(A) 20 

(C) 40 

(B) 30 

(D) 10 (B) 30 
(D) 10 

mally contains 

orotein and 

25. Toil alu HHT 7 ...HtdeT 

(A) 20 R 45 

(C) 30 iR 50 

(B) 25 3R 45 
(D) 35 R 50 (B) 25 and 45 

(D) 35 and 50 
26. he..........family 

(B) Malvaceae 

(D) Lineaceae 

(B) HTTd 

(D) fervi 
(A) HIH 
(C) iTNI 

27. 
(A) ufrT N zEAT 
(B) ufai EET 
(C) afTT TT DT FEMT 
(D) yfTT a TTAT 

o means. 

e buds in the axil of 

aves 
rminal buds 

aves 
2, 4 3T g...... 

(A) aTGHISS 
(B) ToeH 
(C) e ferseH 
(D) A TRB 

28. 

ators 

dants 

29 n in wheat is normally 

(A) TT TYU 
(B) T- E tiET TU 
(C) y 7TeT 
(D) 3/g TRU 

30. 

nitiation stage 

age 
ge 

ariety of following crop 

(B) Wheat 

(D) Gram 

(A) H¢T 
(B) T C) TT 
(D) 7 



gn or "Bhadavari buffalo 31. 44Tat t4' ufr eIH -

(B) BNyTuT 
(D) GTR uT 

(A) THT4 
(B) Haryana 
(D) Uttar Pradesh 

owing bovine animals of 

(C) TuRTT 

oreed is 

(B) Amrit Mahal 
(D) Kankrej 

scabies fever in animals is 

T 
(A) 2TUIREY 
(C) EfRYT 

(B) 37THE 

(D) 5Tu 

(A) targ ETT 

(B) Titarg ETRT 
(C) 9TETUT ETRT 
(D) fit a ETI TET 

these 

the following grain-food is 34. a geT I 

h cow to protect its body? 
(B) 2-2.5 kg. 
(D) None of the above| 

first calf of a hybrid heifer 

f»TAT qIA-3ITER fèAT GTTT? 
(A) 1-1.5 fa.l. (B) 2-2.5 f.T. 
(C) 3-3.5 f.Tl. 

35. 
(B) 24 30 H18 (A) 20 24 HIE 

C) 36 40 HIE (D) 3uRIaT 7 T onths (B) 24 to 30 months 
onths (D) None of the above| 
ollowing is a foreign breed 36. À fAtM T7 y aa- 8?

(A) TT 

(C) TI3tTT 
(B) 3HTTT 

(D) TTRTH (B) Ongole 
(D) Kangayam 

37. f À 7- AraTst IT' a Tk 8? 
(B) &a-t 
(D) 

following is a breed of 

(A) ToU 

(C) RuceaR (B) Devani 
(D) Gir 

best basis for sorting 
g bulls is- 

38. 

(B) Texture 
(D) Breed 

SATETR 
(A) Tma 

(C) 3/T5TR 
(B) aHaT 
(D) Tv 

y 

followingis a milch breed of 39 - GUTT7 T $? 
(A) HaTc 
(C) HTT 

(B) FHTTATEa 
D) 3T (B) Sahiwal 

(D) Dang 
m percentage of fat in the 

davari buffalo' is-

(B) 9.0% 
(D) 13.0% 

(A) 8.0% (B) 9.0% 
(C) 11.0% (D) 13.0%% 



Direction (41-42) In these questions, some 48. PROPEL 
sentences are given with blanks to be filled with 
an appropriate word (s). Four alternatives are 

suggested for each question. Choose the correct 
alternative one of the four 

(A) Drive 
(C) Burst 

(B) Jettison 
(D) Acclimatize 

Fill the blanks with the right pair of words: 

A mother has to....... the pangs of 
41. Even if two horses may 1look 

may not be of the same age. 

(A) comparable 
(C) only same 

they 49. 

giving... to her child. 

(A) Bear, birth 

(C) Bare, birth 
Select the right modal for the blank: 

Walking on the beach, we..... sight of a 

strange bird. 

(A) Catch 

C) Caught 

(B) alike 
(D) None of these (B) Bare, berth 

(D) Bear, berth 

50. 42. We cannot go on strike every year. Now 

that we have gone on strike we must 

this issue. 

(A) cross 

(C) culminate 
(B) clinch 
(D) co-ordinate 

(B) Catching 
(D) Catched 

Direction (43-44) In each of the following 
questions, find the correctly spelt word. 

43. (A) Reannaisance
(C) Rennaissance

(B) Renaissance
(D) Renaisance

44. (A) Recommandation
(B) Recommendation
(C) Recomandation
(D) Recomendation

Direction (45-46) : In these questions, a 
sentence has been given in Active/Passive
Voice. Out of the four suggested alternatives,

select the one which best expresses the same 
sentence Passive/Active Voice. 

45. They will demolish the entire block. 
(A) The entire block is being demolished.
(B) The block may be demolished

entirely.
(C) The entire block will have to be 

demolished by them 
(D) The entire block will be demolished.

46. This surface feels smooth. 
(A) This surface is felt smooth 
(B) This surface is smooth when it is felt 
(C) This surface when felt is smooth 
(D) This surface is smooth as felt 

Direction (47-48) Out of four alternatives,
choose the one which is similar to the meaning of the given word. 
47. FOSTERING

(A) Safeguarding (B) NeglectingC) Ignoring (D) Nurturing
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S1. fv viT , v T 10 
5 

(A) 25 
(C) 175 

52. 

(B) 150 
(D) 200 

E TTH HTCT qurtas STA GTHY 392 

(A) 6 
(C) 3 

(B)5 
(D) 2 

53. T HreT R GY 4, 6, 8, 12 T2 

(A) 46 
(C) 50 

(B) 48 
(D) 56 

54. 
B 9% Bf E I 30% T 

(B) 7144 
(D) F. 1339 

(A) 5 126 
(C) 150 

55. qTt5 37eraT t¢7 ¥HGTT 

ET, 5,000 ifT UY 4% afds ar 12 

(B) . 3.06 

(D) 5 4.80 
(A) F. 2.04 
(C) . 8.30 

TR HI TE A 3TN B T ST aI9TT 2 

3 T 3TY AN FTT IG E 5 7 8T GIIT ET, 
56. 

(A) 36 IA R 40 HIT 

(B) 32 HT 3R 48 HT 

(C) 40 HTT 3T 56 HI 

(D) 36 H iN 52 HT 

57. 5 T g5 51H 6 H Y Hod , 
Tf 10 HTETT TH BTH 5 AT 7Y 

(A) 4 f 

(C) 6 ta 
100 T. TFT aTT 30 ft. /ueT l aT 

(B) 5 f 
(D) 8 fT 

58. 

(A) 10 HUT 

(C) 12 5UG 
(B) 115U 
(D) 15 HUE 



59. The average monthly income of A andB 
is Rs. 14000, that ofB and C is Rs. 15600 

59. A TT B 3iem HT 377 14000, B 

TeT C sitHT HI F. 15600 g C 
TRT A a 3tHT TR T . 14400IC 

and A and C is Rs. 14400. The monthly 
income of C is: 

a5 HtM T SITT 
(A) F. 16o00 
(C)5 14000 

60 

(A) Rs 16000 

(C) Rs 14000 
(B) Rs 15000 
(D) Rs 15500 

(B) F. 15000 

(D) 5. 15500 
60. The height of a conical tank is 60 cm and 

the diameter of its base is 64cm. The cost 
of painting it from outside at the rate of 
Rs.35 per sq. m is: 
(A) Rs 52.00 approx (B) Rs 39.20 approx 
(C) Rs 35.20 approx (D) Rs 23.94 approx 

a? 
(A) TTT. 52.00 (B) aT¥T E. 39.20 

(C) TTTT , 35.20 (D) TTHT . 23.94 

61. In which district of Haryana is the urea 
plant located? 
(A) Hisar 
(C) Rohtak 

62. NH-71A connects which two cities of. 

61. zRT A FRTT f»H fGto fem? 
(A) fIR 

(C)vET (B) Sirsa 
(D) Panipat 

(B) RT 
(D) YTT 

62. 
Haryana? 
(A) Rohtak-Karnal
(B) Rohtak-Ambala
(C) Rohtak-Panipat
(D) Rohtak-Faridabad 

(A) VTECT-7YI 

(B) TET-3TIT 
(C)TET-iYT 
(D) VET-7GTAT 

63 
Rerm? 

Omhoi(e°* 
63. Nahar Wildlife Sanctuary is located in 

which district of Haryana? 
(A) Rewari 
(C) Palwal 

(B) Mahendragarh 
(D) Mewat 

Who was the first Governor of Haryana 

(A) aTN 
(C) uTTT 

64 
(A) faT 
(B) tTM ST 
(C) 3IRVH. TT 
(D) ay Tadi 

(B) HEET 
(D) HaTT 

64. 
state? 

(A) Dharma vira 
(B) Dhanik Lal Mandal 
(C) R.S. Narula 
(D) BN Chakravarthy 

65. As on 2021, The Place of Haryana in 
India in terms of area is ? 

65 2021 5 HA qT HTRT À TRYTUT 
aD eT ? 

(A) 19th 

(C) 21st 
Which famous folk dance of Haryana is 

(B) 20th 

(D) 23rd 
(A) 197 

(C) 21T 
66. 

(B) 20T 
(D) 23T 

66 
performed by both Men & Women? 
(A) Tij Dance 
(C) Khodia Dance (D) Phag Dance 

67. Who designed the High Court building of 67. TeTTTi 
Chandigarh?
(A) Edwin Lutyens 
(B) Le Corbusier
(C) Laurie Baker 
(D) Both (A) and (B) 

(B) Loor Dance (A) t 
(C) eltsyT 

(B) 
(D) DTT T 

TchT ATR fT 21? 

(A) Ysfa gfeia 
(B) aifrar 
(C) HNT à 
(D) a (A) stt (B) 

-C 

B:C LS6c0 
A- foonnohce(o odmnohP-(or 

SETC 

6 



68. Haryana is divided into how many 68. 
divisions? 
(A)4 
C)8 

69. Tomb of Ibrahim Suri is situated in? 

(B) 6 
(D) 10 

(B) 6 

(D) 10 
(A) 4 
C) 8 

69 
(A) TIRTa 
(C) are 

70 

(A) Narnaul 

(C) Rewari 
70. Deer Park is situated in which of the 

(B) Bhiwani 
(D) Yamunanagar 

(B) ar- 

(D)T1TY 

following place of Haryana? 
(A) Meham 
(C) Kalanor 

71. In the following questions, select the 
related word from the given alternatives. 

(B) Safidon 

(D) Kharkhoda 
(A) TE 

(C) eR 
(B) T 
(D) TTT 

37t97are7 ? 
(B) FateR T 

(D) TETATR 

Touch: Feel:: Greet: ? 

(A) Smile 

(C) Success 
(B) Acknowledge 
(D) Manners 

(A) TPT 
(C) HTT 

72 72. Rajiv is the brother of Atul. Sonia is the 

sister of Sunil. Atul is the son of Sonia. 

How is Rajiv related to Sonia? 

(A) Nephew 
(C) Brother 

73. If "- 
" 

stands for divisions "+ 
" 

stands 

for subtraction, "+" stands for 

multiplication, 
" 

x 
" stands for addition, 

then which one of the following equations 

(B) Son 
(D) Father 

(A) 7TiGT 

(C) HT 

73 

(B) a 
(D) ftaT 

is correct? 

(A) 70-2+4+5 x6 = 44 

(B) 70-2+ 4 5 x6 21 

(C) 70-2+4 5 x6 341 

(D) 702+4+5 x6 36 

74. In the following question, select the one 

which is different from other three 

(A) 702+4 5 x6 = 44 

(B) 70-2 +45 x6 = 21 

(C) 70-2+4 5 x 6 341 

(D) 70-2+4+5 x 6 = 36 

74. 

alternatives. 

(A) 40-5 
(C) 324 

(B) 6012 
(D) 8811 

(A) 40 5 

(C) 32-4 
(B) 60 12 
(D) 88-11 

75. 
75. A man starts from his office and goes 5 

km east. Then, hé turns to the left and 

again walks for 3 km. Again he turns left 

and walks 5 km. At what distance is he 

from the starting point? 

(A) 3 km 

(C) 6 kmn 

Find the missing number. 

fbc-it ? 
(A) 3 f5. 
(C) 6 fat 

76. 

(B) 4 km 
(D) 7 km 

(B) 4 fet. 
(D) 7 fs 

76. 
33, 28, 24,?,19, 18 

(B) 22- 

(D) 23 

33,28, 24,?,19, 18 iv,t 

(A) 21 
(C) 20 

.. (B) 22 
(D) 23 (A) 21 

(C) 20 

7017SET 



77, If LIBERALIZATION' is coded as 
34256134918470, then 
AERATION'can be coded as: 
(A) 15168470 

(E) 15618470 

77 fLIBERALIZATION' a e ¥T9T 

H 34256134918470 fTET TY, Td GH E 

HTT 'AERATION' a f¥ yeTY TRT 

GTYTT? 
(A) 15168470 

(C) 15618470 

(B) 1518647 
D) 51618471 (B) 1518647 

(D) 51618471 

78. In this question two statements are given 78. 
followed by two conclusions I and II. 
You have to consider the statements to 

be true even if they seem to be at 
variance from commonly known facts. 
You have to decide which of the given 

conclusion, if any, follows from 

the given statement. 

Statements 
I. Some birds are clouds 

I1. Horse is a bird 

Conclusions I. 
I. Some clouds are birds 

II. Horse is not a cloud 

(A) Conclusions I follows 

(B) Conclusion II follows 

(C) Either conclusion I or II follows 

(D) Neither conclusion I nor I follows. 

(A) Apy I MbaTI I 

(B) f II AoaT I 

(C) fepI 3seraT IIAaTI 

79. In a row of boys, Srinath is 7" from the 

left and Venkat is 12" from the right. If 

they interchange their positions, Srinath 

becomes 22 from the left. How many 

boys are there in the row? 

(A) 19 

(C) 33 

80. 

79. 

(A) 19 
(C) 33 

(B) 31 
(D) 34 (B) 31 

(D) 34 

Find the missing number from the given 

responses in each of the following 

question. 
Fomnodt e.ce 

826-1 

8 
15 

113 
113 S2 3e-1| 

57 29x2 i, 

(A). 223 
(E) 225 

81. 

(B) 224 (D) 227 a6 
(A) 223 

(C) 225 
(B) 224 

(D) 227 
In the following questions, select the 

related word from the given alternatives. 
Hour Second: Tertiary: ? 

(A) Ordinary 
(C) Primary 

(B) Secondary 
(D) Intermediary 

(A) HTTRUT 
(C)HTeTeR 

H gciiy: ? 

(B) &cir 
(D) 7raci 

7017SET-C 



82. Gopal said, pointing to Govind His 82 father is my father's only son". How is 
Gopal related to Govind? 
(A) Grandfather (B) Grandson (A) ETET 

(C) a 

(B) T 

(D) fT (C) Son (D) Father 
83. If - stands for, + stands for X, 83 

stands for - and x stands for + find out 

which one is correct. 

(A) 49 x 7 +3 +5-8 = 16 

(B) 49+7 x 3+5-8 26 
C) 49+7 -3 x 5 8 20 
(D) 49 7+3 5 x8 24 

84 

(A) 49 x 7+3 5- 8 = 16 

(B) 49+7 x 3 + 5 - 8 26 

(C) 49 + 7-3 x 58 20 

(D) 497+35 x 8 = 24 

In the following question, select the one 84. 
which is different from other three 

alternatives. (A) 121 - 196 

(C) 36- 83

(B) 144- 225 
(A) 121 -196 (B) 144225 (D) 16- 49 
)36-83 (D) 1649 

TE qf?q4 3ITR 5 f e arAT 
85. 85. Mohan travelled westward 5 km, turned 

left and travelled 3 km, turned right ánd 

travelled 9 km. He then travelled north 3 

km. How far he is from the starting 
point? 

(A) 5 fi 
(C) 6 f- 

(B) 3 f 

(D) 14 fa. (A) 5 km 

(C) 6 km 

Find the missing number. 

(B) 3 kmn 

(D) 14 km 

86. 
1,1,6,6, 11, 11, 16,?,? 

(B) 16, 21 

(D) 21, 16 

(A) 13, 11 

(C) 17,21 

1,1,6,6,11, 11, 16,?,? 
(B) 16, 21 
(D) 21, 16 (A) 13, 11 

(C) 17, 21 

87. If police is called teacher. Teacher is 

politician, politician is doctor, doctor ís 

lawyer and lawyer is surgeon, then who 

will catch criminals? 

(A) Teacher 

(C) Police 

87. 

(A) fTETC 
C) gtrH 

(B)3Te 
(D) Tlo (B) Doctor 

(D) Lawyer 2 

-5 (112 

,15) 

I2 
7017SET-C 



Two statements are given followed by 88 
88. 

two conclusions I and II. You have to 

consider the two statements to be true 

even if they seem to be at variance from 

commonly known facts. You have to 

decide which one of the given 

conclusions is definitely drawn from the 

fy T A5i - AfRaT y 

given statements. 

Statements 

Some Indians are educated fqu 
Educated men prefer small families 

Conclusions 

(1) All small families are educated. 

(II) Some Indians prefer small families. 

(A) Only I follows 

(B) Only II follows 

(E)Both I and II follow 

(D) Neither I nor II follows 

(A) aa fA I 7raI I 

(B) a fAe II MTII 

C) AEp I 3eraT II, qÀMBTd EI 

(D) 7I fA I 3ttR I Ap II f4ard 

89. In a row of 16 boys, when Prakash was 89. 

shifted by two places towards the left, he 

became 7 from the left end. What was 

his earlier position from, the right end of 

the row? 

(A) 7th 
(C)9th 

Find the missing number from the given 

responses in each of the following 

question. 

(B)8th 
(D) 10th 

(A) 7aT 

(C) 9aT 

90 

(B) 8 
(D) 10aT 

90. 

125 125 7 
(A) 127 
(6) 216 

91. Which daughter of Haryana has made a | 91. 
national record for making 3 mm boat? 

)Ankita Desai (B) Kavita Sharma 
(C) Urjit Gopinath (D) Sakshi Garg 

92. How many Haryana Police personnel have been awarded the Union Home 

(B) 31 
(D) 328 

(A) 127 
(C)216 

(B) 31 
(D) 328 

A) stT HI (B) sfaT THT 

(C) tfdr HUAT (D) FTet 7T 

92. 
Minister Medal in January 2020? 
(A)5 
(C)7 

(B) 2 
D) 9 (A) 5 

(C) 7 

(B) 2 
(D) 9 

P-M 

M-R 
R-D 
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93. Which department has launched the Integrated Health Information Platform Portal in Haryana? 
(A) Finance Department 
(B) Central Mental Department (C) NITI Aayog 
(D) Health department 

94 

93. BfRTUT Es dru RNT TE 

(A) f famT 
(B) ty HIFE fHTT 
(C) i 3Te 
D) arreq fHTT 

How many hours has been increased in 94. the power supply provided to the farmers in Haryana in year 2021? 
(A) 3 hours 

2021 zRaTm frHTH GT 

(B) 2 hours 
(D) 5 hours C) 4 hours 

(B) 2 T 

(D) 5 
(A) 3 T 
(C) 4 95. In which district did Haryana's Women | 95. 2019 E Child Development Minister 

Kamlesh Dhanda inaugurato the One Stop Center Sakhi inx 2019? (A) Karnal o(B) Kaithal 
(C) Ambala 

96. In which district did the Govemor of| 96. 
Haryana hoisted the flag on the occasion | of Republic Day 2020? 
(A) Hisar 
(C) Ambala 

and 

(A) IC 
(C) 37-4T 

(B) er 
(D) UTHYT (D) Panipat 

TUTCT fqH 2020 3H RYT 

(B) Karnal 
(D) Gurugram 

(A) feHN 

(C) TT 
(B) Y 
(D) To Which player from Haryana has become| 97. FRTOIT HT TYITST HT 229 a 

the 229th ODI player of India? 
(A) Aman Malik 

(B) Kuldeep Chahar 
(C) Yuzvendra Chahal 
D) Navdeep Saini 

97. 

(A) 37H1 H 

(B) gcty E 
(C) gdT8 
(D)Tarty 

Which Haryanvi player has been 98. f RATUTaT RrI 'FICCI 98. 
conferred the Sports Person of the Year 
2019 award by FICCI? f 

(A) Htd AT 

(C) a7H HI 
(B) fT I 
(D) TH THUT 

(B) Deepti Rani (A) Savita Poonia 
(C) Kamlesh Kumari (D) Rani Rampal 

99. 99. Which scheme has been launched by 
Haryana to keep a watch on illegal 

mining? 
(A) Jan Jagran Yojana 
(B) e-Ravana Yojana 
(C) e-monitoring scheme 
(D) Tracking scheme 

100. In which city of Haryana was the 68th 

All India Police Wrestling Competition
organízed?

(A) Surajkund
(C) Gharaunda

(A) G GTRT ZuT 
(B)-THI JMI 

(D) T7 au 

100. 68 3TT T yfTT dufeT ufaTaT 

(B) UTa7 (B) Palwal 

(D) Gurugram 
(A) rUg 
(C) ERTST (D) TTH 
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